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= Uf If v, U, UP i Ia(max) | 1, Ip Fig.!)
T, % SR AN R i
\' A \'% v Y ' mA | mA mA ne
DCG 3/3000 Phl 1 |5 6,75 7500 | 1000 ‘ 4000
G 7,5[2,5 d AEG| 2 |5 10 7500 | 800 | 2500
G 103 i AEG| 3 |5 4 10000 | 1000 | 3000
G 15/1,5 i AEG| 4 |5 7 15000 | 500 | 1500
Gle 2000/1]2,5 Sim | 1 |5 10 2000 | 1000 : 2500
Gle 2000/1]3 Sim | 1 |5 10 2000 | 1000 | 3000
Gle 5000]1/2,5 Sim | 1 |5 10 5000 | 1000 | 2500
Gle 5000/1/3 Sim | 1 |5 7 5000 | 1000 | 3000
Gle 10000/1/2,5 Sim 115 10 10000 | 1000 | 2500
Gle 10000/1]4 Sim , 2 |5 7,5 10000 | 1000 4000
15000 | 1000 4000
Gle 15000/1/4 Sim 2 1545% 7,5 { 5300 | 4780 | 15000 2000 | 2
10600 | 9560 | 15000 2000 3
15000 | 500 I 2000
HG 53 Fer 115 3 { 5500 | 5000 | 15000 1000 | 2
11000 | 10000 | 15000 1000 3
13000 | 1000 4000
HG 55 Fer 115 5 { 4500 | 4000 | 13000 2000 L2
9000 | 8000 | 13000 2000 3
RG 2/1000 Mul | 1 |5 10 5000 | 1000 . 4000
RG 48 Tif 2 |5 7 7500 600
RG 49 TIf 5 5 20 7500 2500
VH 2500 SFR| 1 |5 10 10000 | 500 ' 2500
267-B WE!| 5 |5 6,75 1
2198 WE | 5 |32 6,75} 7500 | 1000 . 4000
315.A WE: 5 |5 10 \
A we |l 5 |2 hl 12500 | 1000 4000

1) vide gr. 58 a
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Equivalents

A
F 315 A Fed 315-A 3
RGQ 7,5/2,5 TIf G 7,5/2.5 d
55 HG 13 Fer HG 55
267-A WE 267-B
F FK
<—54——->

[ l H AL 610/3i
gg.:wo"f

4 £ A
VH 2500
F FK

FK
615/15i

A A
2, 5
Hg o
+10:+50°C Hg
F +35:+70°C

Gle 15000/1/4 267-B

HG353

220
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